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Number of Questions : 20
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819111332 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819136701.

70819136702. -

70819136703.

70819136704. °

Question Number : 1 Question Id : 70819111332 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4[|9 22| dx SR T T
-4

Options :
121
70819136701.

70819136702, 2
70819136703.

70819136704, -

Question Number : 2 Question Id : 70819111333 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is . The sum of the cubes of its terms is :

Options :
31
70819136705, 1
108

70819136706. 1°

m| =

70819136707.

5
70819136708. 7



Question Number : 2 Question Id : 70819111333 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. 9
gB1 GG e WA FeAS A AT 3 OF F AR o4 TR | (0, W

HWA9] Tg qBFA 29 ;

Options:
31
70819136705, 1
108

70819136706, 12

m|[:i

70819136707.

5
70819136708. 7

Question Number : 3 Question Id : 70819111334 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819136709. F =P V4

70819136710, (P9 =P

70819136711, PPV @)V (~9)



20819136712, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819111334 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEE (FIALGT AT A BT AAF S 7
Options :

70819136709, F =P V4

70819136710, (P79 =P

70819136711, P~ PV @) v (~9)

70819136712, PV "P) A @V (~9))

Question Number : 4 Question Id : 70819111335 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.‘!:- 1- .'!.- _l l
Let[af<1, [bi<1, [c[<land x=} a", y=} b, 2=} " I 7
n=({ n=0 n=() .

L

are in Arithmetic

Progression, then :
Options :

70819136713, & b and care in Arithmetic Progression

70819136714, & b and c are in Geometric Progression

70819136715, & 2b and ¢ are in Arithmetic Progression

! : atickr The—
70819136716. &~ b and ¢ satisfy 2b-=ac



Question Number : 4 Question Id : 70819111335 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@2 o<1, [bl<1, <1 o® 2= a", y=Y b", 2= Y " T T Hoffes

n=( n=() n=0
qeF, (o7 ;
Options :
20819136713, & b TR ¢ TG 24oifes i
20819136714, & b T ¢ BTTET Aol e
20819136715, 2 2b BT ¢ KA #1fes Afea
20819136716, & b TF ¢ @ 2b?=ac ¥ 71 3

Question Number : 5 Question Id : 70819111336 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M +7n+5

i

is equal to :
n=1

n!
Options:

70819136717, 19e+5

70819136718, 12¢—5

70819136719, 16e~—>



70819136720, 16e—7

Question Number : 5 Question Id : 70819111336 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

\;‘- n°+7n+5
— n!
|

— Y W %J:
=1

Options:

70819136717, 19e+5

70819136718, 12¢—5

70819136719, 16e—>

|

70819136720. 16€-

Question Number : 6 Question Id : 70819111337 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 109+ (3 (4)°2) + \ is divisible by 9 is :
Options :

70819136721, 2

70819136722.

=]

70819136723.

70819136724, 1



Question Number : 6 Question Id : 70819111337 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1050 +(3 x (4)52) + A M 9 (T T 27 A T F19e9 49 94e T 27
Options :

70819136721, 2

70819136722.

~]

70819136723.

70819136724, 1

Question Number : 7 Question Id : 70819111338 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819136725, 435

70819136726, 421

70819136727, 435

70819136728, 41

Question Number : 7 Question Id : 70819111338 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fefem TRAs W% EFHeAT @I SIS T 45, 551 OF 661 % 4nF | A% BG4 wiEE
3 TEE AR 17 @91 997 AN T

Options :

70819136725, 435
70819136726. 421

70819136727. 435

70819136728, %1

Question Number : 8 Question Id : 70819111339 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ar—b ) i
Ify= —_1) has an extremum at the point (2, —1), then the values of aand b are:

(x—=1)(x
Options :

70819136729, =1, b=0

70819136730, 2=0- b=1
70819136731, a=0, b=-1
70819136732, 2= L b=1

Question Number : 8 Question Id : 70819111339 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: ﬂ ' ax b
fﬂlmﬂﬁ@ﬁ@y=?—%ﬁ:fﬁﬁﬂﬁﬁmTH%ﬁ.ﬁ@aﬂ?bﬁﬁﬁﬁﬁ?:
¥ X =

Options :

70819136729.
70819136730.
70819136731.

70819136732.

Question Number : 9 Question Id : 70819111340 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2':'. [ ; 21(' +5=0 and ? I,b"f" I ";; 6kJ +2=01s:

Options :
o
70819136733, 13
15

70819136734, 4

70819136735, ¢

70819136736.



Question Number : 9 Question Id : 70819111340 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T (20 4] -2k)+5=0 w® T- (67 +3] 6k +2=0 g e S ¥7 -

Options :
5
70819136733, 19
15

70819136734. %

70819136735, ¢

70819136736.

Question Number : 10 Question Id : 70819111341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pmbabilit}-' of solving a pmhlem in Mathematics b}-‘ two students X and Y are I and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:

70819136737, 20

70819136738.



1
70819136739, 20

.

70819136740. 20

Question Number : 10 Question Id : 70819111341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 S
Tﬂ??XW@YE@Wﬁ@ﬂﬁTWT?ﬁT%ﬁ??ﬁgﬂ@gl¢ﬁﬁﬂ$ﬁﬂﬂ%¢

IS FOFSNE TG F919 (531 F(A, (OUE, FPNH (SSIAFd (FA QG FAALR F49

TR 37

Options :

70819136737, 20

70819136738.

70819136739. 2V

12

70819136740. 20

Question Number : 11 Question Id : 70819111342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L hi is c-qual Lo :

The polar form of the cnmplex number
1—i

Options:



cos — + i sin—
~ ~
70819136741. e 5

Cos % i sin %
70819136742. = =

cns'—rr [ isini
70819136743, % :

cos L [ .'ainE
70819136744. ' '

Question Number : 11 Question Id : 70819111342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 o srearsr 2 SR T ¢

1—1
Options :
cnsi I z':;inT—'
9 9
70819136741. e e
cos % { sin%
70819136742. - =
cnsi I fsini
70819136743,  * '
cos 1 { .'ainE
70819136744. ' '

Question Number : 12 Question Id : 70819111343 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options:

I3

70819136745.

70819136746, -

70819136747.

70819136748, 1

Question Number : 12 Question Id : 70819111343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% (1, 0) o (3, 0) THIZ0 ATAN @MIGTES 2 ; 1 TJATO0 72191 T4 AF ([@UHNGTER AT
FIOE 4T (@] AN ax =7 34, (B aITTZ T ;

Options :

2
70819136745, <
70819136746, -

70819136747, *

70819136748, 1

Question Number : 13 Question Id : 70819111344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :

70819136749, ¥ Y7 —2x+4y +3=0

-

70819136750, ¥ Y —4x—2y+4=0

SR Sy, WS o
70819136751, 2X~+y) —x+y+1=0

LA, R il
70819136752, ¥ty —2x—4y+3=0

Question Number : 13 Question Id : 70819111344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X+ y=2 @B ACATE 12 + 12 — 2 =0 JALHA WA 26Ty 02 21 JEHA FAFH! 27
Options:

70819136749, ¥ Ty —2x+4y+3=0

-

70819136750.

3] e IR R YN
70819136751, 2" +y) —x+y+1=0

L/ SR ST TR il
70819136752, ¥ T¥ ~Zx—4y+3=0

Question Number : 14 Question Id : 70819111345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



=1 and the circle

Equations of the common tangent of the ellipse
(4124 (y-1)2=4 are:

Options :

70819136753, Y13=0 and x=1=0

70819136754, ¥ —3=0 and y+1=0

70819136755, ¥ +3=0 and x—1=0

y+3=0 and y—1=0
70819136756.

Question Number : 14 Question Id : 70819111345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

112 o il

& lqlJ I U ,JJJ =1 TRE WF (x+1)2+ (y—1)2=4 9T TLTZSH (common) PMHFTAA
2 3°

AAFNAE 29

Options :

3=0OF x—1=
70819136753, Y+3=0 9® x=1=0

—3=0 9 y+1=
70819136754.l e gt

70819136755, ¥ 13 =0 x—1=0

y+3=09TF y—1=0
70819136756.

Question Number : 15 Question Id : 70819111346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

| l a
If A= LJ J , then Ak (ke N) is :

Options :

70819136757.

70819136758.

k ka
0 k

70819136759.

[l ka}
0 0
70819136760.

Question Number : 15 Question Id : 70819111346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁ. 1 a
it J.-\L:[” 1] =, (o8 Ak (keN) 2°3 :

-'l ka
0 1

70819136757.
1 k‘a
i 4.

Tk ka
0 k.

Options:

70819136758.

70819136759.



.'l ka
0 0

70819136760. {

Question Number : 16 Question Id : 70819111347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + _1'3 =5
Xy +2x,+3x,=9
Xy +3x,+sx3=t

has no solution, are :

Options :

70819136761, 5=2, =13

70819136762, S*5

70819136763, S=> 1= 13

70819136764, 1 * 13

Question Number : 16 Question Id : 70819111347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
g, x;+x,+x3=5
Xy +2x,+3x,=9
xy+3x;+sxy=t
AT AN CFCA FAA AATEF, (SF s AF ¢ J T2
Options:

70819136761, S=2, t=13



70819136762, S# 2

70819136763, S=> 1= 13

70819136764, 17 13

Question Number : 17 Question Id : 70819111348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 3{ 2x ) el B%
Derivative of tan ‘ with respect to sin - ‘ in (1, =), is:
k.1 -1"—; k.:|.|_3L"_f..
Options :
70819136765.

70819136766. — 1

70819136767.

2

70819136768.

Question Number : 17 Question Id : 70819111348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2x

o Y . i b P L
(1, ) SEAES sin 1( ‘ ACACT tarn'"ll = ‘ q GEFHEH1 2 9
=
\ J

1+x2 ) (1

Options :

70819136765. :



70819136766, ~ 1

70819136767, ©

2
70819136768. ~

Question Number : 18 Question Id : 70819111349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, a><|.a><c_ tb=0, then

—_ -3

Let a, b and ¢ be three vectors such that M:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

708191367609.

4

70819136770.

T
q

70819136771.

5w
7]

70819136772.

Question Number : 18 Question Id : 70819111349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[ — —

E S o

7

_“

d

qqTHA, a, b TF ¢ b (T3 TS b

— —
a OF ¢ I TG THIH T :

Options:

NP

708191367609.

NE

70819136770.

o
q

70819136771.

S

12
70819136772.

Question Number : 19 Question Id : 70819111350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +1?)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

il -1 —til‘l_lj.,r
70819136773, ¥ 1 tan ‘ytce

- T .
70819136774, Y= @n y-1tce

_ -1 —tan_ly
70819136775, ¥ m y—l+ce

70819136776.



Question Number : 19 Question Id : 70819111350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+y3)dx=(tan "~ ly —x)dy STaF== ALFIELEE FIAECH 29

{{I"Ec.ﬂlf," ﬁﬁim]
Options :
gl
20819136773, F=1—tam " y+ee™ " ¥
e
20819136774, ¥~ 2D ly—1+ ce tn 2
—1
70819136775 x=tan ly-1+ce™®" ¥
70819136776 r=—tan ly 1 CDI:-In_I_-J_-

Question Number : 20 Question Id : 70819111351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.

o : 3 :
The values of x, for which the vectors a = (x>~16)1 t4 j— (x*—~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options:

70819136777, 17> —4 < 4. 5]

70819136778, L =24 v (=4, 9]

70819136779, (72 ~4H v (4 9)

70819136780, (> P (749)



Question Number : 20 Question Id : 70819111351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T o =(2-16)i+4 - (x*-25)k EHETE (49 Fo7a) FALT TR 758 A Teotm
I, (B8 x T TEAHE 4 TGAETH 27
Options :

70819136777, |2 —4l w14 3]

70819136778, |72 4) W (=4 3]

70819136779, (72 ~4) v (*5)

70819136780, 2 DV (=4 9)

Mathematics Section B

Section Id : 708191382
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191662

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 70819111352 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819111352 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T,u.'f—l'%m dx T3

0 =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819111353 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819111353 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Otan?0+4cot?0 I SR T T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819111354 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 23 Question Id : 70819111354 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[

q —x+6 o
{I,Z,W)WW * :])’ .": ;ﬁ%’ﬂfﬁﬁﬂ'wmfﬂ_m_- o

3 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819111355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; ) 2
If log, 2, log, (2*—5) and log: i Ly L | are in Arithmetic Progression, then the value of x is
3 3 63| ?)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819111355 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) ' R - X ;
i logs 2, log, (2 5) W< IOB'EI 2* % ‘ TR H5TO0 ATF, (C@AANTLT
: : 3 7 )

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819111356 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i ¢ 132 ¢ V-
If x24+x+1=0, then J11 i| I|1’2
X/

|\

Response Type : Numeric

e
1‘2 g \ o il I
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819111356 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
2 %

g% 2 +x+1=0, (503 '-[{x l| ||rJ::2 L| I(J.j iﬁzl 29
[~ x)J x 7 ¥ ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819111357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
x2+y2=4x-2y-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819111357 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, 5) T AR 22+ 12 —dx— 2y — 11=0 IO G *PIFATT Q& T A0S < 59
o FA| O3 FISEOA I PlFFE T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111358 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819111358 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I @b e T T TF PR TSR 15 3, U el B4 @ 117 |, (908, T9%
ATHBE MW ETT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819111359 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, de Z with ged (|a|, |b|, |c))=1,
then |atb+c+d|isequal to .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819111359 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@ T4, (1,2, 6), (2 5,7) EFHA TG 19 02 @@ TE 4y -+ 2= 15 TICAT GS 77
WW%@?HMHWMZ +d=01 3% a, b, c, dc Z TF 1 M: T; (], [bl, kc/)=1
o, (OF, [a+b+c+d WWMZT |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111360 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
The number of real solutions in the interval [ ' -‘ of the equation 4sin’x — 8sinx +3=0

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111360 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v 7w
{ T T-‘ RIS 4dsin’y — 8siny +3=0 FIFICHT IBT FAYE 72T 37 g oo st

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111361 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1110

Let A;, Ay Ag o be an increasing geometric progression. If T4 As 63 and
AzA =441, then 3(A,+A,) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111361 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

b 2 40

LA, A, Ay Ay e ab1 F{TW grarey gafe | I H'ET'% qIE

AA =41 T, (TRIA,+A)THZT |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Aptitude Test
Section Id : 708191383
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191663
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819111362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the "UNESCO" ?
Options:

70819136791. United Nations Educational, Scientific & Cultural Organization.
20819136792, United Nations Educational Security Cultural Drgani:zation.

70819136793. United Nations Entrance Site Calling Drga_nizatinn.

United Nations Educational, Sustainable & Cultural Organization.
70819136794.



Question Number : 31 Question Id : 70819111362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

werq @] e A 29 UNESCO 9 ?

Options :

70819136791, 2STZBE L RLFELA, BRBET & FIAGLAA TSRS

0819136797, ZTNZDC T ATTIHTET (5D FRTbICaeT STaf2rers

70819136793, 28N2L0E T G BIZ6 Frere Lol 2T

20819136794, 2STNLDE TT60 AFTFBLA, BOLOLLTI & FRAGILIA SLARTEHH

Question Number : 32 Question Id : 70819111363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I) Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (c)
(IV) Secretariat (d)
Options :

70819136795, (D-(b), (ID-(a), (I)-(d), (IV)-(c)

70819136796, (0) (ID-(d), (ID)-(a), (IV)-(b)

20819136797, D@ (ID-(b), (ID-(c), (IV)-(d)



20819136798, OBy (IHa), (<), EV)H{d)

Question Number : 32 Question Id : 70819111363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wiferel-1 7 FA9re wifersl-11 fEmes|

iferesl-1
I == =T (a)
(I) TR FHM, CRbaTSE—l (b)
() T*(F T Grra (©
(IV) TSC&FCHREED (d)

Options:



70819136795, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819136796, V-(©), (ID-(d), (IT)~(a), (IV)-(b)

0819136797, 0@, (I)-B), (D-(<), AV)-(d)

20819136798, 9P (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819111364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819136799, Wb}, (I)-(c), (HD-(d), (IV)-(a)

70819136800, D-(b). (ID-(d), (I)-(c), (TV)-(a)

20819136801, V). ()-(a), (ID)-(b), (IV)-(d)

20819136802, W) (I)-@), (ID-(d), (IV)-(c)

Question Number : 33 Question Id : 70819111364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sifera-1 T Fors ifera-11 faames)

iferest-1 wifere-11
I == (a) &Ffm av'faes 24
(I fed (b) FE A
() Foeepa o () Red Tefem
(IV) @En (d) gorw waf
Options :

20819136799, Wb}, (I)-(c), (D-(d), (IV)-(a)

70819136800, (D-(P), (ID)-(d), (I)-(c), (IV)-(a)

20819136801, D), (I)-(@), (ID)-(b), (IV)-(d)

70819136802. (D-(b), (I)-(a), (LD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819111365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819136803, D-(b), (ID-(c), (IID)-(a), (IV)-(d)

20819136804, D), (ID-(b), (IID)-(c), (IV)-(d)

70819136805, 1) (D-(a), (ID-(d), (IV)-(b)

20819136806, ©(0), (I-@). (D~(c), IV)(d)



Question Number : 34 Question Id : 70819111365 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wifer®1-1 T Fst@ wifera-11 fames)

wiferat-1 wifere-11
(1) oman gsf (a)
(II) =i5a Tefem (b)
(ITT) =TT e (c)
(IV) oome 9@ (d)
Options :

70819136803, 1)-(B) (ID-(¢), (D)-(a), (IV)-(d)

20819136804, D@, (ID-(b), (I)-(c), (IV)-(d)



0819136805, 09 (-@), (T-(d), IV)-(b)

70819136806, (2 (1D-(@). ()-(c), (IV)(d)

Question Number : 35 Question Id : 70819111366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819136807. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819136808, (D-(©), (I)-(d), (ID)-(a), (IV)-(b)

20819136809, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819136810, (D-(P), (I)-(d), (M)-(a), (TV)-(c)

Question Number : 35 Question Id : 70819111366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wiferel-1 9 757® Sifera-11 fiemes)

iferest-1 wiferest-11
[ IeFE TIH (a) T
() fagp wfma (b) T
(1) B wfim c) Prgm
(V) =R e (d) Fewm
Options:

70819136807. (D-(c), (LI)-(d), (IL)-(b), (IV)-(a)

70819136808, (D-(©). (I)-(d), (ID)-(a), (IV)-(b)

20819136809, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819136810, (D-(P), (I)-(d), (MI)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819111367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Maltch List - I with List - I1.
List - 1 List - 11

(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi

(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819136811. (D-(a), (-(d), (IID-(b), (IV)-(c)

20819136812, (D-(d), (I)-(c), (I)-(a), (IV)-(b)

70819136813, (D-(d), (ID-(c), (D)-(b), (IV)-(a)



70819136814, 0-(3) (1), (HD-(d), AV)A(<)

Question Number : 36 Question Id : 70819111367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

siferar-1 T 0w iferat-11 Faes)|

SifeTest-1 Siferest-1
O TEAenE 7 (a) TTEE™
=R (b) T
(IIT) Tsmerpes waf (c) fear
(IV) T2femm gaf d) TEeeE

wHT e #[@ WE ©Ed 5I F41 |
Options :
20819136811, \D-(@), (IM)-(d), (IIN)-(b), (IV)-(c)

20819136812, (D-(d), (ID)-(c), (ID)-(a), (IV)-(b)

20819136813, (D), (I)-(c), (ID)-(b), (IV)-(a)

70819136814. (D-(a), (I0}-(b), (II)-(d), (IV)-(c)

Question Number : 37 Question Id : 70819111368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819136815, B-V. Doshi

70819136816. Arundhati Roy



70819136817. Revati Kamat

70819136818, Dimal Patel

Question Number : 37 Question Id : 70819111368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘oG o =E fUer [Feree (FeE sey Frererfary e 7
Options :

g o
70819136815. R.fS. worf

70819136816, Jrho 4

70819136817. 4 PR

70819136818, 1 108

Question Number : 38 Question Id : 70819111369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819136819, ujarat

70819136820, 'Vest Bengal

70819136821, 1amil Nadu



70819136822, Rajasthan

Question Number : 38 Question Id : 70819111369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TAAT AP HTIT AT TS T T 7
Options:

70819136819, ZF0

70819136820, “T°F 27

70819136821, 217 -

70819136822.

Question Number : 39 Question Id : 70819111370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819136824, SCuth-East side

70819136825, vorth side

70819136826, Scuth-West side



Question Number : 39 Question Id : 70819111370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e #[@T TS T SO SHgES AT T 7
Options :

70819136823. e~ fie

70819136824, -7

70819136825, =4 fere

70819136826, T eI

Question Number : 40 Question Id : 70819111371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?
Options:
70819136827 Bharat Bhavan in Bhopal

70819136828 LIC Buﬂding in Delhi

70819136829. Charminar in Hyderabad

T s ; 9 - i
20819136830. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819111371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ferafatare i ShieaTe, SHfaTals a6 CET Taw ComET A 2
Options :

70819136827, D 1° 4, TorE

70819136829, PIARIA, ZIZARTH

fS3 fam o’ fares, teea 5T
70819136830.

Question Number : 41 Question Id : 70819111372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :
70819136831. 420 x 590 (mm x mm)

70819136832, 120 75% (mmxmm)

70819136833, 227 X420 (mm X mm)

70819136834, 20 %592 (mmx mm)

Question Number : 41 Question Id : 70819111372 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
‘A2’ B9 O FoTEE T F 27 7

Options :

70819136831, 4207590 (R xf.f,)
70819136832, 420%594 (A <L)
20819136833, 297 %420 (f. xf.f.)

70819136834, 420%592 (RF. <ff)

Question Number : 42 Question Id : 70819111373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :
70819136835, Chittor fort

20819136836, Jaigarh fort

70819136837, bhangarh fort

70819136838, ‘+mer fort

Question Number : 42 Question Id : 70819111373 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f$3°f7 bram s oG e w@sfe 2



Options :

70819136835, Peod 1°f

70819136836, ¢ T

70819136837, O1® Tl

70819136838, o 21

Question Number : 43 Question Id : 70819111374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :

70819136839, Samjay Puri

70819136840, Vikram Lall

70819136841, shok Lall

70819136842, = “Ompura

Question Number : 43 Question Id : 70819111374 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafafie e Frereifacy ‘srrau IR 7 7eas a2

Options :

70819136839, V& I



70819136840, &4 1A

70819136841, - n® FE

70819136842, - T

Question Number : 44 Question Id : 70819111375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819136843. Charles Correa

70819136844. Richard Mier

70819136845, Jasbir Sachdewv

70819136846. Ranjit Sabliki

Question Number : 44 Question Id : 70819111375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘ST T U e FeEae ¢fae WiEe ?

Options :
70819136843, P71 LFIEH

70819136844. Gl



70819136845, 7 11 ZPLEA

70819136846, &S T

Question Number : 45 Question Id : 70819111376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :

Options :
Climate change
70819136847.

70819136848, Clobal warming

708191368409. Sustainable development

70819136850, Smart city

Question Number : 45 Question Id : 70819111376 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘arEe 217 TG F FAS FEAEE 7
Options :

70819136847, oo g THTSH

fag Twer 35

70819136848.

70819136849, I OF SRPTTST GaeT



70819136850, 0 B

Question Number : 46 Question Id : 70819111377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819136851 Karnataka

70819136852, Orissa

70819136853, Maharashtra

70819136854, Uttar Pradesh

Question Number : 46 Question Id : 70819111377 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A A T @ AT ST 7

Options :

70819136851, T10F

70819136852, 2TV

70819136853. "= =

70819136854, 7T &t



Question Number : 47 Question Id : 70819111378 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819136855, MNorth

70819136856, ~Cuth

70819136857, Cast

70819136858, VVest

Question Number : 47 Question Id : 70819111378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

iR CoTeTda QAR Toir2d (o e oram ey 2

Options :

70819136855, =1

wiEse

70819136856.

70819136857, =

70819136858, “T<o™



Question Number : 48 Question Id : 70819111379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819136859, 0+V- Doshi

70819136860, -aurie Baker

70819136861, A Rewal

70819136862, “:chyut Kanvinde

Question Number : 48 Question Id : 70819111379 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
#2¥ SIS FrT@faw [td 2018 HiEee J@FT o Ffare

Options :

S
70819136859. Rfe. T

70819136860, 711 L3

70819136861, 1o A9

70819136862, 2@ FHID

Question Number : 49 Question Id : 70819111380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :
Options :

70819136863, Bengalurm

70819136864, Danaras

70819136865, bengal

70819136866, Dl

Question Number : 49 Question Id : 70819111380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘qetE’ (Bungalow) *Rfb &' *[@1 TaTal 0% ?
Options :

70819136863, 1 1A+

70819136864. ©

70819136865, -1% 7=

70819136866, I4

Question Number : 50 Question Id : 70819111381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed h}-‘ which of the fnllf}wing Architect ?

Options:



70819136867, -aurie Baker

70819136868, -Ouis Kahn

70819136869, -Utyen

70819136870, Le Corbusier

Question Number : 50 Question Id : 70819111381 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1%, W13, 7., -SEACATG T (PG IS ARese FErg 7
Options :

70819136867, A4 G3F

70819136868. R IR

708191368609. o

70819136870. fr aragfe

Question Number : 51 Question Id : 70819111382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?




Options :

70819136871, 14

70819136872, 13

70819136873, 12

70819136874, 18

Question Number : 51 Question Id : 70819111382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R fas ra2h Foss wE 2

Options :

70819136871, 14

70819136872, 13

70819136873, 12

70819136874, 18

Question Number : 52 Question Id : 70819111383 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819136875.
I
I
70819136876.
.
_I .-
| |
70819136877.
I | |
70819136878. m

Question Number : 52 Question Id : 70819111383 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
abr 5@ 77 o 4 @ frn 3D wghe &I romn tarm | Al Bas iy Efaear)

Options :
I e
|- |
70819136875.
I
I
70819136876.
.
_I S
[ |-
70819136877.

70819136878.



Question Number : 53 Question Id : 70819111384 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
70819136879.

N
70819136880.

Il
70819136881.

70819136882.




Question Number : 53 Question Id : 70819111384 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) T &b AFTeR @ a1 AR (2R A Od DR, G %A A o 0w A
forTe 1|

— DE O
Options:

A
70819136879.

N
70819136880.

I
70819136881.

70819136882.



Question Number : 54 Question Id : 70819111385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819136883.

L
70819136884.

[ 1
70819136885.

70819136886.



Question Number : 54 Question Id : 70819111385 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4% fBITET b1 TFTea @o[T +@1 (o fod| 31T BFa e+, g Taa foarh! A Sfeean

!

Options :
70819136883.

L]
70819136884.

[ ]
70819136885.
70819136886.

Question Number : 55 Question Id : 70819111386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819136887.

70819136888.

70819136889.

70819136890.

Question Number : 55 Question Id : 70819111386 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9% 2HBaAGT @51 959 @5/~ (o Ba| 1T 554 e o, W Teq o e 74

|| 1]

T

Options :

70819136887.

70819136888.

708191368809.

70819136890.

Question Number : 56 Question Id : 70819111387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819136891. >
70819136892. D
70819136893. v
70819136894, ﬁ

Question Number : 56 Question Id : 70819111387 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersfetre Saq fbaq Rt g1 o o foare a3 e 319 903 S T &1 el W | 0% foareht
fomTe 41|

Options :

70819136891. E



70819136892. D
70819136893. ;
70819136894. ﬁ

Question Number : 57 Question Id : 70819111388 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819136895.

70819136897.

W
70819136896. Q
0
N

70819136898.



Question Number : 57 Question Id : 70819111388 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fersferre foaa R «b1 5@ o foare 773 wee I 73 T91 9 TS vl R 10 Bah! e
1

Options :

70819136895.

70819136897.

W
70819136896. Q
0
N

70819136898.

Question Number : 58 Question Id : 70819111389 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

70819136899.



N

70819136900. i
70819136901. :

70819136902. [>

Question Number : 58 Question Id : 70819111389 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136899.

70819136901.

N
A
>

70819136902.



Question Number : 59 Question Id : 70819111390 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819136903. D
70819136904 D
70819136905. O
70819136906. f

Question Number : 59 Question Id : 70819111390 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136903. D



70819136904. D

70819136905. O

70819136906. #

Question Number : 60 Question Id : 70819111391 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problc-m figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819136907.

70819136908.



]
[l
]
70819136909,
[
[]
70819136910,

Question Number : 60 Question Id : 70819111391 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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X

[]




Options :

70819136907.

70819136908.

708191369009.

70819136910.

Question Number : 61 Question Id : 70819111392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problem t’iguro with
respect to X-X ?

N\
A

N\
(D)
@J

AON
NZ;

70819136914.



Question Number : 61 Question Id : 70819111392 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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N\
A

N1
(D)
@J

AON
NZ;

70819136914.



Question Number : 62 Question Id : 70819111393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819136915. /
N
NV
N\
70819136916. /
N
P
N/
70819136917. /[\

70819136918.



N4
AN

Question Number : 62 Question Id : 70819111393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

NI

70819136915.

P s g

70819136916.

70819136917.



/N

70819136918.

Question Number : 63 Question Id : 70819111394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819136919.

70819136920.

70819136921.



N
S

70819136922.

Question Number : 63 Question Id : 70819111394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al

Options :

74
70819136919.
70819136920.
70819136921. |

70819136922,



Question Number : 64 Question Id : 70819111395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819136923.

70819136924.

70819136925.

70819136926.



Question Number : 64 Question Id : 70819111395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136923.

70819136924.

70819136925.

70819136926.



Question Number : 65 Question Id : 70819111396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819136927.

70819136928.

70819136929.



70819136930.

Question Number : 65 Question Id : 70819111396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136927.

70819136928.



70819136929.

70819136930.

Question Number : 66 Question Id : 70819111397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819136931.

70819136932.

70819136933.

70819136934.



Question Number : 66 Question Id : 70819111397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136931.

[ ]

70819136932.

70819136933.



70819136934.

Question Number : 67 Question Id : 70819111398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819136935.

70819136936.

70819136937.

70819136938.



Question Number : 67 Question Id : 70819111398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136935.

70819136936.

70819136937.

70819136938.



Question Number : 68 Question Id : 70819111399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819136939.

70819136940.

70819136941.

70819136942.

Question Number : 68 Question Id : 70819111399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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4

Options :

70819136939.

70819136940.

70819136941.

70819136942.

Question Number : 69 Question Id : 70819111400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819136943.

70819136944,

70819136945.

70819136946.

Question Number : 69 Question Id : 70819111400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136943.

70819136944

70819136945.

70819136946.

Question Number : 70 Question Id : 70819111401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819136947. '

70819136948.

70819136949.

70819136950.

Question Number : 70 Question Id : 70819111401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819136947. '

70819136948.

70819136949.

70819136950.

Question Number : 71 Question Id : 70819111402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819136951. —I

70819136952. l

70819136953.

70819136954.

Question Number : 71 Question Id : 70819111402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136951. —I

70819136952. l

70819136953.

70819136954.

Question Number : 72 Question Id : 70819111403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819136955.

L]
70819136956.
70819136957. I:l

L]

70819136958.

Question Number : 72 Question Id : 70819111403 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136955.
70819136956.
70819136957.

70819136958.



Question Number : 73 Question Id : 70819111404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819136959. | |

|
70819136960. | I
70819136961. | |

||
70819136962. |

Question Number : 73 Question Id : 70819111404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

|
70819136959. L

|
70819136960. | |
70819136961. | |

||
70819136962. |

Question Number : 74 Question Id : 70819111405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819136963.

70819136964.

70819136965.

70819136966.

Question Number : 74 Question Id : 70819111405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136963.

70819136964.

70819136965.

70819136966.

Question Number : 75 Question Id : 70819111406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819136967.

70819136968.

708191369609.

70819136970.

Question Number : 75 Question Id : 70819111406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136967.

70819136968.

70819136969.

70819136970.

Question Number : 76 Question Id : 70819111407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819136971.

70819136972.

70819136973.

70819136974.

Question Number : 76 Question Id : 70819111407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136971.



70819136972.

70819136973.

70819136974.

Question Number : 77 Question Id : 70819111408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819136975.

70819136976.



=

70819136977.

=

70819136978.

Question Number : 77 Question Id : 70819111408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819136975.
70819136976.

70819136977.



=

=

70819136978.

Question Number : 78 Question Id : 70819111409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819136979, () and (B)

(B) and (C)
70819136980.

70819136981, (©) and (D)

70819136982, (P) and (4)

Question Number : 78 Question Id : 70819111409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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(A) (B)
() (D)
Options :

70819136979. LT

70819136980, (B) ¥ (C)

70819136981, (&) =¥ (D)

70819136982, () T (A4)

Question Number : 79 Question Id : 70819111410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi— O
v —o 8
Options:

70819136983.



70819136984.

70819136985.

70819136986.

Question Number : 79 Question Id : 70819111410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819136983.

70819136984.

70819136985.

70819136986.



Question Number : 80 Question Id : 70819111411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

/
\

Options:

70819136987.

70819136988.

P D P

708191369809.

70819136990.



Question Number : 80 Question Id : 70819111411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819136987.

70819136988.

708191369809.



70819136990.

Drawing
SectionId: 708191384
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191664
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819111412 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
technjques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819111412 Question Type : SUBJECTIVE
Correct Marks : 50
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Question Number : 82 Question Id : 70819111413 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.

OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819111413 Question Type : SUBJECTIVE

Correct Marks : 50
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(i) STA:T¥2cmx2cmx2cm, 56T
(i) TIB:T 5 ecmXx2cmX2cm, 461
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